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AxX+Bx+C=0

1. HauaTtsb.

2. Beoa A, B, C.

3. D=B?-4AC.

4. Ecnm D <0, Tonatn Kk n. 6.

5. Ecrim D >0, Tongtn Kk n. 8.

6. [denctButenbHbIX KOPHEN HET.

7. Aot k n. 10.

8. X,=(-B- \/@/2A X, =(-B+ /pl2A.
- 9. BbiBeCcTu 3HayeHust X, un X,.

~ 10. 3aKoHUUTB.
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Beoag A, B, C
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D=B2-4AC

HencrButenbHbIX
KOPHEWU HeT




program example;

var a,b,c: integer;d,x1,x2:real;
begin

writeln (‘a,b,c’);

readln (a,b,c);
:=sqgr(b)-4*a*c;

d<0 then

begin

writeln (‘no korny');

begin
x1:=(-b-sgrt(d))/2*a;
x2:=(-b+sqgrt(d))/2*a;
writeln ("x1=",x1," x2=",x2);

)

end;
readin;
end.
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KomnbloTep kKak ¢popmasibHbIU
UCNoONHUTEsNb ANIrOPUTMOB

KomMmnbroTep —
MHOIro(yHKLUOHANbHO
TeXHU4YeCcKoe 3NIeKTPOHH
aBTOMaTU4vecKoe yCTPOMUCTBO AOJ
' HaKomnmneHunsa, oopadboTKku u
nepepavyv nHpopmauun.
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ABTOMaTU3M B paboTe CocTaBneHue
nporpamMmel,

NoAroToBKa UCXOAHbIX
OaHHbIX, ‘




